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DISCRETE SYMMETRIES

85,

86,

N8.07. N9.05. G-parity. Griffiths, problem 4.36 (a). You can use the Particle Physics Booklet to check
your answers, but not to arrive at them.

_ [Using the information in Table 4.6, determine the G parity of the followmg mesons: 7r(140) p(770), w(783),

n(549), 1(958), $(1020), and F(1270)]

IN8.07. Griffiths, problem 4.37.

[The dominant decays of the n meson are n — 2v (39%), n — 3x (56%), and n — 7y (5%). end it’s
classified as a “stable” particle, so evidently none of these is a purely strong interaction. Offhand, this seems
odd, since at 549 MeV, the n has plenty of mass to decay strongly into 27 or 3.

(a) Explain why the 27 mode is forbidden, for both strong and electromagnetic interactions.

(b) Explain why the 37 mode is forbidden as strong interaction, but allowed as an electromagnetic decay.]



